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ENGAA S2 2020 - Question 3

ENGAA S2 2020 - Question 3 - Worked Solution

V = C . sin sin 60 = C
2

d = R + R = L

3
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Answer is C
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ENGAA S2 2020 - Question 6

ENGAA S2 2020 - Question 6 - Worked Solution

Maximum displacement I 0.7m
Answer is D
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ENGAA S2 2020 - Question 16

ENGAA S2 2020 - Question 16 - Worked Solution

6 sin sin θ = 3 sin sin 45
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5sin sin θ = 2 sin sin θ
sin sin θ = . . sin sin 45

5 6

Answer is E

2 3

https://oxbridgemind.co.uk/test-tuition/engaa-tutors/
http://www.oxbridgemind.co.uk


ENGAA S2 2019 - Question 1

ENGAA S2 2019 - Question 1 - Worked Solution

sin sin 45 = 2

2

sin sin 60 =
2

n sin sin x = sin sin y

n. sin sin 45 = sin sin y
2 2

sin sin y = 2 .
1sin sin y =
3

Answer is A

3

3

https://oxbridgemind.co.uk/test-tuition/engaa-tutors/
http://www.oxbridgemind.co.uk


ENGAA S2 2019 - Question 5

ENGAA S2 2019 - Question 5 - Worked Solution

f = 40Hz
in one minute : 40Hz×60s = 2400 waves permin
Amplitude at antinode , wℎere opposite waves superpose:
A = 1. 5cm ×2 = 3cm
If tℎe particle experiences one full wave it does 4 amplitue distance
d = 4A

Hence:
—1d = 3cm×4×2400 min

0

= 28800 cm
= 288m

Answer is E
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Answer is A

ENGAA S2 2019 - Question 6

ENGAA S2 2019 - Question 6 - Worked Solution

φ = 90 — θ

= = by defination of optiCal index

vmat = vair — sin sin φ
sin sin φ = sin sin (90 — θ) = cos Cos θ

v = v . cos Cos 65
mat air

λ =
vaircosCos 65

mat f
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Answer is C

ENGAA S2 2019 - Question 20

ENGAA S2 2019 - Question 20 - Worked Solution
n = 1

x sinsin 45o

n = 1

y sinsin 60o

n < n
y x

critical angel is from slower optical medium to ℎigℎer so,
x→y

n sin sin θ = n sin sin 90 o
x c y

sin sin 60 = ≈0. 87
2

θ in between45o & 60o
c

3
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ENGAA Specimen S2 - Question 1

ENGAA Specimen S2 - Question 1 - Worked Solution
T = 4×0. 20S
T = 0. 80S

v = fλ

Answer is A
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ENGAA Specimen S2 - Question 11

ENGAA Specimen S2 - Question 11 - Worked Solution

λ = 6. 0km

v = fλ
v = 0. 5×6

—1
v = 3kms

Answer is E
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ENGAA Specimen S2 - Question 14
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ENGAA Specimen S2 - Question 14 - Worked Solution

n sin sin θ = n sin sin θ
1 1 2 2

Answer is H

https://oxbridgemind.co.uk/test-tuition/engaa-tutors/
http://www.oxbridgemind.co.uk


ENGAA S2 2018 - Question 6

ENGAA S2 2018 - Question 6 - Worked Solution
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Shows half a cycle of the wave, so

λ = 1m
Wave equation:

V = λf

—3
X iS at 1. 5T→t = 1. 5×10

—3
= 1. 5×10 S

Answer is F.
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T = 0.8s

ENGAA S2 2018 - Question 13

ENGAA S2 2018 - Question 13 - Worked Solution

Period of wave:
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Speed of wave:
V = λt
= 1. 25λ

Also:

①

But also:
②

①→②

λ = 6 cm

Answer is F.
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ENGAA S2 2017 - Question 4

ENGAA S2 2017 - Question 4 - Worked Solution

a.
1) Constructive interference occurs when path difference is nλ, so TRUE
2) FALSE , as when path difference is , waves arrive in anti-phase,

so interference is destructive, see minima
3) TRUE, as shown above
4) TRUE, as there will be no diffraction pattern if waves are not coherent (

have no fixed phase difference)
5) FALSE as maxima further away from source are less bright due to intensity

inverse square law [IⅨ(distance)—2]
Answer is B

b.
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S = 300nm = λ/2
v = c/2

As λ = 600nm
● period of wave : T = λ/c
● Time to tranSverSe S in vaccum:

● Time to transverse s in material

● So light which passes through material will be half a cycle out of phase
with the light that didn’t

● However, the sources will still have a constant path difference
● So d is true as now light from one slit will be in anti-phase ( half a cycle

out of phase ) with light from the slit. So maxima will now occur when

phase and so form maxima
● So pattern will shift in y-direction

Answer is D
c.
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● Wave length of the radio waves:

= 0. 5m

● λ is comparable to gap between sources (d = m) so diffraction occurs
● So D and E are true
● Diffraction creating formula

d sin sin θ = nλ
sin sin θ ≈ tan tan θ ≈ , d = 1m
x = Dnλ

● So spacing between maxima is:
∆x = Dλ

= 0. 5×1km
= 500m

● So spacing between maxima is large
● So D is wrong and E is true

Answer is E
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ENGAA S2 2016 - Question 3

ENGAA S2 2016 - Question 3 - Worked Solution

a)
8 −9

d = vt = 3. 0×10 ×1. 0×10 = 0. 3m
Answer is C
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b)

Answer is F
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c)

n < n < 1. 5
red blue

T < T < T
red blue nom

Answer is A
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